EUROMEHANIKA TRANSMISSION E-mail: info@euromehanika.ru; Tenecor: +7 812 985 51 08; +7 (800) 600 99 10

UL » » AF A A =]a

4—S81X1
o ]
= e
X o
L
M
k—
K+02 i
e+02 == . =
..................................... I..._ - - - -
i T ¥ H
..... X ¥ ENTETEENTD ¥ £ IS OUOu ORISR M 3 (5
230 fala) 12}

Matepuan: AnoOMUHUA

Crar.
Tun ApTtukyn Harpyska | Harpyska
I T Y T

SBR10UU  SBR1OUUEMT 372 549 7

SBR12UU  SBR12UUEMT 420 800 12 20,46 17 40 37,46 276 8 34 3 M5x10 26 4,3 80 45 39 25 28 01
SBR13UU  SBR13UUEMT 520 910 13 21 17 40 38 276 8 34 3 M5x10 26 45 80 45 39 25 28 01
SBR16UU  SBR16UUEMT 770 1170 16 25 225 45 45 33 9 40 25 M5x10 30 55 80 5 45 30 32 0,15
SBR20UU  SBR20OUUEMT 860 1370 20 27 24 48 50 39 11 45 15 M6x12 35 55 60 5 50 30 35 0,20
SBR25UU  SBR25UUEMT 980 1560 25 33 30 60 60 47 14 55 25 M6x12 40 66 50 6 65 35 40 045
SBR30UU  SBR3OUUEMT 1560 2740 30 37 35 70 70 56 15 60 5 M8x18 50 66 50 7 70 40 50 0,63
SBR35UU  SBR35UUEMT 1660 3130 35 43 40 80 80 63 18 65 75 M8x18 55 9 50 8 80 45 55 0,92
SBR40UU  SBR4OUUEMT 2150 4010 40 48 45 90 90 72 20 7% 75 M10x20 65 9 50 9 90 55 65 1,33

SBR50UU  SBR50UUEMT 3820 7930 50 62 60 120 115 91 25 95 125 M10x20 80 11 50 11 110 70 94 3,00


mailto:info@euromehanika.ru
tel:+78129855108
tel:+78006009910

